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b1 b= 3 — ({H) 150 150 150 50 100 150 150 150 150 150 1,350
HEINID x) 4 10 9 12 4 5 8 9 5 15 81
HpsteoRAM () 6 11 10 12 5 6 9 10 6 14 89
Tt FHE RO L 2 3 2 3 2 2 2 2 2 5 25
A (s teo T () S 2 3 2 4 1 2 2 2 2 4 24
BLhsEx (4% 11 24 20 27 8 11 17 20 12 33 183
ARG (3Y 26 41 36 46 21 26 34 36 26 56 348
POESE  (3y7) 400 400 400 400 - 400 400 400 400 400 3,600
< —VH ML 1 1 1 1 - 1 1 1 1 1 9
~ s VG b 1 1 1 1 - 1 - 1 1 1 8
< ik VE/MERL 1 1 1 1 - 1 - 1 1 1 8
238 (#) 200 100 100 100 - 100 100 100 100 200 1,100
I () 10 20 10 10 - 10 10 10 10 20 110
R BEA IV (#) 500 | 1,000 | 1,000 - - 500 | 1,000 [ 1,000 500 500 6,000
Nkvharu(f) 12 8 10 - - 10 10 10 10 10 80
AT R HEyb A (R) 30 30 30 - - 30 30 30 10 30 220
Fii~vh (5 340 660 680 - - 800 520 | 1,220 740 500 5,460
£ i (Ho) - - 1,500 | 1,960 - 800 | 1,220 | 1,220 740 - 7,440
H () 1 1 1 1 - 1 1 1 1 1 9
BT 1 1 1 1 - 1 1 1 1 1 9
LK A KRl 8 11 12 - - 11 12 12 12 12 90
Y7759 I — 1 1 1 1 - 1 - 1 1 1 8
NELEVE 5 2 5 - - 2 3 2 3 2 24
DFEEARME - - - - - - - - - 0
HF 50 50 50 50 - 50 50 50 50 50 450
a—K)—v (H) 1 1 1 1 1 1 1 1 1 1 10
B 1 1 1 I - I 1 1 1 1 9
fiti 5 148 2 3 3 4 2 2 3 3 5 2 29
RS 2 2 2 2 - 2 2 2 2 2 18
Fb 1 1 1 1 - 1 1 1 1 1 9
{80 10 10 10 10 - 10 10 10 10 10 90
TIANR—=L—D 2 3 3 4 - 2 3 3 2 4 26
JE R 2 2 2 2 - 2 2 2 2 2 18
He b AR ERE - - - - - - - - - - 0
ANEA UK 2 3 2 2 - 2 2 2 2 2 19
W) AFEE Y 4 4 4 4 - 4 4 4 4 4 36
sy |[R—F 7 IVEIR 2 2 2 2 - 2 2 2 2 2 18
L ey 2 2 D e D 2 2 2 2 18
frks s 2 3 3 4 - 2 3 3 2 4 26
LEDIAb 1 1 1 1 - 1 1 1 1 1 9
[P EEAT 5 5 5 5 - 5 5 5 5 5 45
Bk 3 4 4 5 - 3 4 4 3 5 35
DIFEEPREL 2 3 3 4 - 2 3 3 2 5 27
A 6 9 9 12 - 6 9 9 6 15 81
VYT A a 8 11 11 14 - 8 11 11 8 17 99
XY A —R—r 1 1 1 1 1 1 1 1 1 1 10
HWESY % 1 1 1 1 1 1 1 1 1 1 10
T —3—h 10 10 10 10 - 10 10 10 10 10 90
LA a—F v 1 1 1 1 1 1 1 1 1 1 10
Bk #s 1 1 1 1 - 1 1 1 1 1 9
faKk ks 1 - 1 - - 1 - - 1 1 5
2B R T 1 - 1 - - 1 - 1 1 1 6
DR 7 2 1 1 1 1 1 1 1 1 1 11
Zof KERFABOX 1 1 1 1 - 1 1 1 1 1 9

RSN a A el f A el =l el el f
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hEEET OB AR [ W[ OE [ AN | EEEA AEVESE [PEEVHE (@i Ty
i & Ak 1TH |'rd—|kra—|smEiE| ~ 3t
i H R R [ [P [y — | KEAE| X ERAE
BrwE () 3,768 | 1,128 700 | 1,200 984 312 1,320 2,592 | 1,420 | 1,000 14,424
TAZ7LK(TL) (8) 50 50 50 50 50 50 50 50 50 50 500
T (1) 2 1 1 1 1 0 1 - 1 1 9
it Iy h— (&) 2,030 630 420 630 560 210 770 | 1,750 840 560 8,400
YHAF VT 60 60 60 60 60 60 60 60 60 60 600
ek (Uvby) 1,236 180 108 420 372 120 300 480 300 180 3,696
AN 500 300 200 300 200 200 300 400 300 200 2,900
BT (§5) TLE— 4 2 2 2 2 2 2 3 2 2 23
PGt 2 1 1 1 1 1 1 1 1 1 11
ERS | EELE 1 1 1 1 1 1 1 1 1 1 10
EAY—Y (%) 5 10 1 2 4 2 - - - 2 26
B{HAL () 20 12 10 10 10 10 10 10 10 10 112
e FHE IS () 6,200 | 2,600 | 1,400 700 | 1,800 600 | 2,800 | 5,000 2,800 1,000 24,900
AL b S (f) 250 150 150 200 150 100 150 150 150 150 1,600
e L3 (k) 11 4 2 4 2 2 4 9 4 4 46
Hste o RAM (5) 11 5 4 5 5 4 6 10 6 5 61
Hpste oA (O L 4 2 2 2 2 2 2 2 2 2 22
R (st o7 () S 3 2 1 2 1 1 2 2 2 1 17
BUAE &) 35 9 5 8 7 3 11 20 11 7 116
ARAS @Y 42 22 20 22 21 15 25 36 25 21 249
PHESE - (Rv7) 400 400 400 400 400 400 400 400 400 400 4,000
~ R—/VHRML 1 1 1 1 1 1 1 1 - 1 9
v R VRS ML 1 1 1 1 1 1 1 1 1 1 10
~ k= )VH/IMERAL 1 1 1 1 1 1 1 1 1 1 10
3. ) 200 100 100 100 100 200 200 100 100 100 1,300
7 €] 20 10 10 10 10 10 10 10 10 10 110
Ry BFN (F) 1,000 500 500 500 500 500 500 - - 500 4,500
Tvbarve(f) 20 10 10 10 8 10 10 10 8 10 106
Y IV (R) 60 30 10 30 30 30 30 30 30 30 310
Efi~vr  (F) 1,520 500 140 500 - 300 840 | 1,680 - 500 5,980
£ fi (#o) 1,520 500 140 500 - 140 700 | 1,320 - 500 5,320
H R (&) 2 1 1 1 1 1 - - - 1 8
T 2 1 1 2 1 1 1 - - 1 10
AICEEK A K i 21 10 5 8 5 7 10 - - 7 73
Pzt HIY H— 2 1 1 1 1 1 1 1 - 1 10
NELE v 3 2 3 2 2 2 2 2 2 2 22
DFEEARK 1 - 1 - 1 - - - - - 3
HF 100 50 50 50 50 100 50 50 50 50 600
a—K)—1 (&) 2 1 1 1 1 1 1 1 1 1 11
= 1 1 1 1 1 1 1 1 1 1 10
fi 5 58 4 2 2 2 2 1 2 3 2 2 22
LB 2 2 2 2 2 2 2 2 2 2 20
Fb 2 1 1 2 1 1 2 1 1 1 13
1Y 10 10 10 10 10 10 10 10 - 10 90
TIAR—=L—A 4 2 1 2 1 1 2 7 2 1 23
It 2 2 2 2 2 2 2 2 2 3 21
12 b A% - - - - - 1 1 - - - P)
IN=D % i 3 2 2 3 2 2 3 2 2 2 23
AV AR vh 8 4 4 8 4 4 4 4 4 4 48
o R—FT7 )VEIR 2 2 2 2 2 2 2 4 2 2 22
L ey 2 2 2 2 D 2 D 4 2 2 22
frk& s 4 2 1 1 1 1 2 3 2 1 18
LEDZAb 1 1 1 1 1 1 1 1 1 1 10
P T 5 5 5 5 5 5 5 5 5 5 50
{HTFIR 5 3 2 3 2 2 3 9 3 2 34
DEEBRE 4 2 1 2 1 1 2 8 2 1 24
NS 12 6 3 6 4 4 6 24 6 4 75
VIvhT Ay a 14 8 5 8 5 5 8 28 8 5 94
FAAZ—R—1 2 1 1 1 1 2 1 1 1 1 12
MEY Y% 2 1 1 1 I 2 1 - 1 1 11
7= —h 10 10 10 10 10 10 10 20 10 10 110
L AFa—kvh 2 1 1 1 1 2 1 1 - 1 11
Gk 2 1 1 1 1 1 1 1 1 1 1 10
fak b 1 - - - - - 1 1 1 1 5
AR T 1 - - 1 - - 1 1 1 1 6
DR 7 1 1 1 1 - - 1 1 1 1 8
2ol K ERBABOX 1 1 1 1 1 1 1 1 1 1 10
LORLN f el sl el el f el el f el
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hEHERT BB SO S S O - A 1 = =
I NE & it

i B ER IER|ERK | 6K |& K
B () 1,680 | 1,008 300 | 2,020 | 2,580 7,588 | 113,920
Tk (TLV) (f) 50 50 50 50 50 250 2,500
i (1) 1 1 1 1 1 5 48
Sl T 95— (&) 980 560 210 | 1,120 | 1,470 4,340 62,510
Y HAF v 60 60 60 60 60 300 2,700
FEK - Uvy) 348 180 48 360 960 1,896 35,844
[N 300 200 200 300 400 1,400 18,200
BIV7 (R 7LLE— 2 2 2 2 3 11 143
RS 1 1 1 - 1 4 46
RS |(ER G 1 1 1 1 1 5 45
EEAY—Y (KO - 2 5 - - 7 343
(ALY (F) 10 10 6 - 10 36 469
e RIS () 1,400 | 2,000 600 | 3,800 | 1,800 9,600 | 170,300
FAL bt $— (fH) 150 150 50 50 150 550 6,600
UHEZBiD K) 5 4 2 6 9 26 372
#bsteo kA () 6 5 4 8 9 32 400
s> T O L 2 2 2 2 2 10 125
B (st (O S 2 1 1 2 2 8 108
BLhsx (4 13 7 3 15 19 57 835
ARAL @ 27 21 15 31 36 130 1,551
NhiZsE (%)) 400 400 400 400 400 2,000 18,000
< R— VML 1 1 - 1 1 4 42
~vin— VA S AL 1 1 1 - 1 4 43
< VH/MERL 1 1 1 - 1 4 43
TR (€8] 100 100 100 100 100 500 5,400
797 (K) 10 10 10 10 10 50 510
2RIV (F) 500 500 500 - 1,000 2,500 28,000
Jtvbhave(f) 10 10 4 - 10 34 422
HeTE Ty b HA (&) 30 30 12 - 30 102 1,222
[Efi~vb (O 420 220 80 - 700 1,420 34,440
E fi ) 780 - 140 - - 920 40,710
H R (&) 1 1 - - 1 3 38
E e 1 1 1 - 1 4 45
FICBE K K FE 12 7 2 - 12 33 413
Pzt HIY H— 1 1 1 1 1 5 50
NEL R 2 2 2 - 3 9 121
DFEEAREK - - - - - 0 4
HE 50 50 50 50 50 250 2,300
a—RY—L (&) 1 1 - - 1 3 44
= 1 1 1 - 1 4 45
i 5 58 2 2 1 - 3 8 128
Wi 2 2 2 2 2 10 88
T b (58) 1 1 1 - 1 4 47
ftEn  (f#) 10 - 10 - 10 30 342
TIAR—=NL—2A 2 1 1 2 3 9 203
TR 2 2 2 2 2 10 92
T A3 ERE - - - - - 0 2
N % s 2 2 2 1 2 9 92
HIV ARV 4 4 - 4 4 16 200
e R—FTIVER 2 2 2 2 2 10 92
Bk ) —F5— R 2 2 2 2 2 10 92
ek 2 1 1 2 3 9 120
LEDZAb 1 1 1 1 1 5 45
PEH AT 5 5 5 5 5 25 220
{H7FIR 3 2 2 3 4 14 171
DESIREL 2 I 1 2 3 9 130
A 6 4 3 6 9 28 395
VTN gy A 8 5 5 8 11 37 482
FA AL —R—1 1 1 1 1 1 5 47
ME Y% 1 1 1 1 1 5 46
TN —3—h 10 10 10 10 10 50 460
L AFa—Fvh 1 1 1 1 1 5 46
A 1 1 1 1 1 5 45
kv - - - - - 0 29
2B 1 - - - - 1 28
Dk 7 1 - - - 1 2 41
K E B2 BOX 1 1 1 1 1 5 44
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U, 2WHEHRTE IR (FEAERERR )
e 4
FERVREL |FrR A |3k = M | FFE A | FRR B 0 R T3l [Bion 0 |mosmuas |7 7 7 & | BT it
i H D AVIAY AN
B (£) 240 280 700 340 | 1,260 160 320 260 280 880 4,720
fri I7H— &) 140 140 350 210 630 140 210 140 140 490 2,590
I TEoELK (U o) 312 384 972 480 | 1,776 228 456 360 396 | 1,272 6,636
Y HKAF v 30 30 30 30 30 30 30 30 30 30 300
PAL Y bhrt—$— () 50 50 50 50 50 50 50 50 50 50 500
HAER M |~ Bs— L 1 1 1 1 1 1 1 1 1 1 10
DHEEE  (Syy) 400 400 400 400 400 400 400 400 400 400 4,000
T FEfi~vh (K 120 140 340 160 600 80 160 120 140 440 2,300
"IE A (0 120 140 340 160 600 80 160 120 140 440 2,300
R—27 VER 2 2 2 2 2 2 2 2 2 2 20
M |V —F— 3R 2 2 2 2 2 2 2 2 2 2 20
LEDZAh 1 1 1 1 1 1 1 1 1 1 10
. JREREEERIREE Ry (— R R )
T PN T P e I P R e e I D i
o A INE o sk | BRE | Ty | B g e | | oIETX | AT2T R
DHE | 2BE | T | e il on| s | e | S | SEH | gy <m0 a
o g | | BT | e [RE RAM | & | e | Tf}f i RER Efﬁﬂ?fﬂ
B2 b 200 300 300 400 2,100 800 2,000 3,500 600 500 300 - - 11,000 22,000
7K 96 156 156 420 1,032 408 1,008 1,440 600 252 156 516 600 5,500 12,340
I — - - - - - - - - - - - 1,050 2,100 - 3,150
oY GD) 1 1 1 1 1 1 1 1 - 1 1 - - - 10
Prot-i=H A A 1 1 1 1 1 1 1 1 - 1 - - - - 9
TNIT Tk 200 300 300 400 2,100 800 2,000 3,500 600 500 300 - - 11,000 22,000
~vh - - - - - - - - - - 1,200 300 - - 1,500
EAR - - - - - - - - - - 1,200 | 1,200 - - 2,400
= 300 300 900 300 300 300 300 300 - 300 - - - - 3,300
THAS 100 100 100 100 300 200 300 500 - 100 100 - - - 1,900
I IR T e S A v A 1 1 1 1 1 1 1 1 - 1 - - - - 9
fakk « KERIRE
(2) HNEFIMEBREKRR [{TEGEHE]
7. InEE A AR ER DL (HAT « A
E A ESBEE] HE X §
FRIEASL 116 345 783 1,244
#) JFRIE LT1 0 O mERE CHillzikiE fak - RERIRG
A . RIEGH KA BRI (HA7 : B)
H1 X A HHIX TR 15 11X FFHIX 3
FRiEEH 38 35 28 1 102
7. DRATHER 7« AR R TERERIN (BT : )
D & rTRaR >~ AR R T
50 56
(1) RBEFATE, BTSSR el - SEFERIRER
(3) HRXAI B ERLSHRREEL
X Promy| #EE | B BN R | & B | A P | AER 7 E M| B E|WE | A G
T & %% 11 9 21 19 14 14 13 28 24 24 22 199
B ¢ FA %% 11 6 20 18 14 14 13 28 24 24 22 194
FEREE (%) 100 67 95 95 100 100 100 100 100 100 100 97
(4) BEKIEREERIFERE
o Ji3 23 24 25 26 27
A Ak K 0 1 0 0 0
2 &t 194 194 194 194 194
() 24 PRI EOHIE, 1 HWEE 72 o7a7=8, BEHZIZ b L, ot -« SERHRGR
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(5) INEEREEICSEIIRR

G B 23 24 25 26 27
PR () 22 10 16 41 18
eEE BN 46 19 26 98 27
B« BRI Lyt U, HLE) BINC S ORREE (88 - 10 - IR b, IR FIRAOITET fik « SRR
H#4(30, 000H-15, 000M-10, 000M -5, 000M)%2X#kT 5,

(6) BHKFEBDICUY (HAT : 3
G 23 24 25 26 27
ARSI AR 3 0 0 4 -
(F) PRk 2 6 4L THE, HHEfRR
(7) THEZH - TMEMAERET - MESUETHBIRL  [FTEGHE]
7. AREEEEITH T HINEE2WT - IR - M RESdE TR (BAL - )
g E 23 24 25 26 27
MHEE 2T 55 60 26 61 75
MR RER A — - — 6 2
MEECE 21 33 21 7 4
0F) MHEEAEEREH L 26 4R D FEhE =
A . BREERSER - FPEEREE T DN -« IERATRERGT - MRRE T e 2 Bl
(BAT - 1)
g E 23 24 25 26 27
[REsln 12 84 54 39 18
M AR 0 3 12 25 8
[REEEE 0 3 7 15 23
() SRk 23 4R 10 FEBA, FRERESUI MR O A3k HGER
6. HEBRETH
(1) HEEMH  [TEGHE] (EA7 « 1)
E =3 23 24 25 26 27
I T i< 1,668 1,543 1, 644 1,811 1,633
Hek e avT vk 244 {1
Ko ERTS—1%) 123 4
27 FEEE DT/ RHRNE AR — B R (FERIEIY,  FEREFHRRSE) 82 1
Rl —Ee X 69 14
BHELEE—E R 53 14
< B LG
(2) HEEEEXIE [TEGHE] (§437 - [m)
P I3 23 24 25 26 27
MEE ar 1 14 6 18 26 30
HHBREAE 13 12 14 17 15
ERLIE - R 3 4 5 6 6
BREHEEE =2 —X
- 4 4 6 6 6
K BELOBZ FT
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